CHAPTER - 2
EXPONENTS

Exercise 2 (A)

Question 1.
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Question 2.
If 1125 = 3m x 5; find m and n.
Solution:

1125 =32 x 53
The factorsof 1125 are 3 x 3 x5 x5 x §
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Now comparing, 32 x 53 = 3™y 5"
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Question 3.
Find x, if 9 x 3x = (27)2
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Since, bases are same, compare them,
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Exercise 2 (B)

Question 1.
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Question 2.
Simplify:
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Question 3.
Evaluate:
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Question 4.
Simplify:
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Question 5.
Simplify:
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Question 7.

(i) (@2)>. (ab)*



(if) (xrym)ex (x3y2)r
-1

_3 Y
(i) [125: T

y

-1

o)
(iv) 3
243y~

(V} (a-zb}lﬂ % {ab-:i}lﬂ
W) ()™ ()" ()™

Solution:

@) (@2b)2. (ab)>

@222 (@3p -}
at4.b2.q73p3
o3 23

ab™3

a
—SAIIS.
b

@) @™ x @y
= x4 ydm . y-3nyn

= yAn-3n y-dm+2n

=:‘ny—¢m+2u'

313
) [125:: I
(iif) 3

y

il

[
}'

25 =5Xx5X5=35

3)-::—1 —3x_—1

5 3ag 3
-1
ﬁ,_
J*xi‘

571 g

},—2




- 25 |5 _ (2555
B

32 =2xX2%x2%2%x2=23
243=3x3x3x3%x3=3°

- —

| |
) (a”2b)2 x(ab™>)3

1 1

— =2x— ==
= (ﬂ z'blfl)x(ﬂlf3b 3)
- a-lblﬂxﬂlﬂb-l

I 1

) L |
a 3 b2

= g3y

1
= 232
™) )" 02)" a2y
= N ),m-nyn-lzn-f_r#mzt-m
i fn-n+£-m.}m-n+n-f_zn-l+f-m
= iyl n-m

Question 8.
Show that:
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Evaluate:
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Question 10.
Evaluate:
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Prove that:
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Question 13.
Find the values of n, when:
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Comparing both sides, we get
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Question 14.
Simplify:
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